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1. 2 Thirds + 2 Thirds = 4 Thirds.
2

3
+

2

3
=

4

3

+ =

2. 3 Fifths + 3 Fifths = 6 Fifths.

3

5
+

3

5
=

6

5

+ =

3. 1 Thirds + 2 Thirds = 3 Thirds.
1

3
+

2

3
=

3

3

+ =

4. 3 Fourths + 2 Fourths = 5 Fourths.
3

4
+

2

4
=

5

4

+ =

5. 4 Sixths + 3 Sixths = 7 Sixths.

4

6
+

3

6
=

7

6

+ =

1



1. 5 Eighths + 4 Eighths = 9 Eighths.

5

8
+

4

8
=

9

8

+ =

2. 7 Tenths + 5 Tenths = 12 Tenths.

7

10
+

5

10
=

12

10

+ =

3. 2 Thirds + 2 Thirds = 4 Thirds.
2

3
+

2

3
=

4

3

+ =

4. 6 Twelfths + 7 Twelfths = 13 Twelfths.

6

12
+

7

12
=

13

12

+ =

5. 9 Sixteenths + 8 Sixteenths = 17 Sixteenths.
9

16
+

8

16
=

17

16

+ =

2



1. 2 Fifths + 3 Fifths = 5 Fifths.

2

5
+

3

5
=

5

5

+ =

2. 4 Sixths + 5 Sixths = 9 Sixths.

4

6
+

5

6
=

9

6

+ =

3. 3 Eighths + 6 Eighths = 9 Eighths.

3

8
+

6

8
=

9

8

+ =

4. 7 Tenths + 2 Tenths = 9 Tenths.

7

10
+

2

10
=

9

10

+ =

5. 3 Fourths + 1 Fourths = 4 Fourths.
3

4
+

1

4
=

4

4

+ =

3



1. 5 Ninths + 4 Ninths = 9 Ninths.

5

9
+

4

9
=

9

9

+ =

2. 1 Halves + 1 Halves = 2 Halves.
1

2
+

1

2
=

2

2

+ =

3. 6 Sevenths + 5 Sevenths = 11 Sevenths.
6

7
+

5

7
=

11

7

+ =

4. 8 Twelfths + 7 Twelfths = 15 Twelfths.

8

12
+

7

12
=

15

12

+ =

5. 9 Sixteenths + 5 Sixteenths = 14 Sixteenths.
9

16
+

5

16
=

14

16

+ =

4



Subtracting Fractions

1. 5 Sixths − 2 Sixths = 3 Sixths.
5

6
− 2

6
=

3

6
=

1

2

− =

2. 7 Eighths − 3 Eighths = 4 Eighths.

7

8
-
3

8
=

4

8

- =

3. 2 Thirds − 1 Thirds = 1 Thirds.
2

3
-
1

3
=

1

3

- =

4. 5 Sixths − 2 Sixths = 3 Sixths.
5

6
-
2

6
=

3

6

- =

5. 9 Tenths − 4 Tenths = 5 Tenths.

9

10
-
4

10
=

5

10

- =

5



1. 11 Twelfths − 5 Twelfths = 6 Twelfths.

11

12
-
5

12
=

6

12

- =

2. 4 Fifths − 1 Fifths = 3 Fifths.

4

5
-
1

5
=

3

5

- =

3. 6 Eighths − 2 Eighths = 4 Eighths.

6

8
-
2

8
=

4

8

- =

4. 2 Thirds − 1 Thirds = 1 Thirds.
2

3
-
1

3
=

1

3

- =

5. 13 Sixteenths − 7 Sixteenths = 6 Sixteenths.

13

16
-
7

16
=

6

16

- =

6


